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	� ��آ��� ��

ل ��� ا�	��� ����
�� ���س ��	C = 10-3 mol/L  ����  .σ = 4,9 µS.mm-1 ا�

����  :  λ(CH3COO–) = 4,1 .10-3 S.m2.mol-1

 

λ(H3O
+) = 35.10-3 S.m2.mol-1

 

Ke = 10-14 

Λ0 = λ(CH3COO–) + λ(H3O    : �$#()'#&�ر ا�$#�"�
+)  

1-

 


	� �.	-اآ#( ���د�� ��
ا���ء/�  ��� ا�	
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���8 7�"#� ا�����6 و34أ� KA  �4دو����CH3COO–/ CH3COOH ��(3" �:�;<�3م ا�Cو ��آ�� ا����
ل  τ�<�8 ا�#

. 
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��8�"(3��  τ ا�>;�:�  �<�8 ا�#�3م أو34 �

 

σو Λ0 و   C�;#��� )>و ا� 
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KAا�<( 

. 
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 ا����
لpHا�<( 
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ات /� ا����
ل دون �<�";����

	� و أ	
ن ا�	��
��رن "�- ��آ��ي ��� ا�	
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اع ا�$����:�� ا��#
ا34ة "�����
لا�<(�Iاآ�� ا�� .  
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J�6�  K�150إmL ��M� ���
ل V0 =100mL  �- ا���ء ا����� -� S0 �	8>�و�ا ���� C6H5COOH

ل  C0 = 2,5.10-2mol.L-1 ��آ������ K�N O&�</ ،S1 آ����� C1 .  

�NأK س��� pH ل
  .pH=3,1: ا����� S1 ا����
1-

 


ل C1ا�<( ا�#�آ�� ����� S1. 
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��J و اآ#( ���د�� �.	>Q /� ا���ءR ��� �	8>�و�أن ��� ا -�"

. 
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ل    /� ا���τ1أو34 ���� �<�8 ا�#�3م ا�>;�:� �S1

. 
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C6H5COO– / C6H5COOH ����دوKA �4ا�<( 7�"#� ا�����6 

. 
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4
ا"� ا�>
ع ا�$����:�  S�� .S1/� ا����
ل )  ؟–C6H5COOأم  C6H5COOH( ا��;��-�3د �
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S0/� ا����
ل  τ0أو34 ���� �<�8 ا�#�3م 

. 
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�3د �.J�WX� ��7 ا����
ل K�N �<�8 ا�#�3م ا�>;�:�
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)	Y���M�  Va = 1,2 L ل
��� K�N O&�</ ،ء���#� �- ا�;�3رو�4- /� �رور ا
 ���� c -� S1�ز آ�

 Q�M� �	3ر	ر
   .V1 = 1Lا�$�
Y'.�  ���� ��Zا
" ��M�V=10 mL  ل
��4 ����ر	� �- /�d و ��S1 �/ Qc�W- ا����
� 500mL ي
#�� 

 K�N �	38ا�250/� اmL����� إ�� \7 Q�J�6 ا���&Q��N O���ك ا����
ل.  �- ا���ء ا���  �3ر	�M� ا���ء ا��
f��X�ا �	��� g� K#� �/ O&�</ ،��4

ل إ�K ا�fX ا�����ري ����

ل  ا���� K�N ��'IاS2 آ�����  C2 

 Q#���
   .σ2 = 0,043 S.m-1و �
اآ#( ���د�� �c ON�W�ز آ�
رور ا�;�3روg� -�4 ا���ء-1
C2ا�<( ا�#�آ�� -2

3- ����

ل σ2اآ#( ����8 ا������� S2 ��(3"   ا34ة

��ت ا��#	Iو ��اآ�� ا ���
	Iا ���
ا��
����ت ا��

��ت اI'�ى–HO وآ<�3�O�; ��آ�� أ	
ن ا�;�3ر("�����
ل 	Iأ��م ��اآ�� ا .(


��ت ا��#
ا34ة "�����
ل-4	Iاآ�� ا�� a#<#Z;�3روآ<�3ا�ن ا
 "�� /�;� أ	
�j /��� إذا آ�ن �- ا���$- إه��ل ��آ�� أ	
ن ا�;�3روآ<�3 -5��HO–ى�'Iت ا��
	Iأ��م ��اآ�� ا 
4
ا"�هO ا�#ON�W "�- ا���ء و c�ز آ�
ر ا�;�3رو�4- آ�� أم ��3ود؟ -6 O�N

���ت�  .Vm=24L.mol-1 : ��]�زاتا��M\ ا��
��   :ا��
��
	I3اء اM�ا :Ke = 10-14.  

λ(H3O
+) = 35 .10-3 S.m2.mol-1

λ(Cl–) = 7,6.10-3 S.m2.mol-1
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)	Y���#آ  m=88mg� Iر"��- ��� ا
$Z (acide ascorbique: vitamine C)  Q#[��C6H8O6 �/ 
 \M�V= 100mL ل
��� K�N O&�</ ،ء���ا -� S ذي pH = 3,2.  
 .Cا�<( ��آ�� ا����
ل -1

ر"�� و ا���ء ��3Nة "�- –اآ#( ���د�� ��� -2$ZIا ���
3- K&�I3م ا�xmaxأ�`_ 34ول ا�#�3م �;Yا ا�#ON�W و �3د ا�#

��fx ا�#�3م ا�>;�:� أو34 ��-4

τاa#<#Z /��� إذا آ�ن ا�#ON�W آ��� أم ��3ودا، و ا�<( ���� �<�8 ا�#�3م ا�>;�:� -5
  .ا�<( ���� 7�"#� ا�#
ازن-6
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